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20 Schuss 10 Schuss 20 Schuss Gesamt 50 Platz
Springi 196,9 P. 101,0 P. 196,8 P. 494,7 P. 1.
Hermann 194,8 P. 100,9 P. 188,6 P. 484,3 P. 2.
Max 195,5 P. 89,5 P. 196,1 P. 481,1 P. 3.
Johnny 186,5 P. 100,7 P. 192,9 P. 480,1 P. 4,
Werna 185,6 P. 95,3 P. 198,8 P. 479,7 P. 5.
Sali 194,8 P. 93,1 P. 191,5 P. 479,4 P. 6.
Sigi 190,4 P. 101,3 P. 186,3 P. 478,0 P. 7.
Ali 191,0 P. 91,1 P. 191,0 P. 473,1 P. 8.
Lois 189,0 P. 90,5 P. 171,5 P. 451,0 P. 9.
Hofa 185,1 P. 96,3 P. 169,0 P. 450,4 P. 10.
Huwi 191,0 P. 89,4 P. 167,2 P. 447,6 P. 11.
Scholle 179,4 P. 86,8 P. 173,8 P. 440,0 P. 12.
Otto 161,8 P. 78,6 P. 145,4 P. 385,8 P. 13.
Luftgewehr stehend

5 Schuss 5 Schuss Gesamt Platz
Hermann 32,7 P. 32,6 P. 65,3 P. 1.
Springi 28,2 P. 34,3 P. 62,5 P. 2.
Max 23,6 P. 36,8 P. 60,4 P. 3.
Ali 26,4 P. 28,1 P. 54,5 P. 4,
Johnny 27,0 P. 25,3 P. 52,3 P. 5.
Scholle 14,1 P. 36,1 P. 50,2 P. 6.
Sigi 27,5 P. 15,2 P. 42,7 P. 7.
Werna 11,3 P. 27,8 P. 39,1 P. 8.
Sali 13,3 P. 24,2 P. 37,5 P. 9.
Hofa 15,9 P. 16,2 P. 32,1 P. 10.
Lois 13,6 P. 15,1 P. 28,7 P. 11.
Huwi 18,4 P. 6,6 P. 25,0 P. 12.
Otto 7,3 P. 8,4 P. 15,7 P. 13.



Pistole
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5 Schuss 5 Schuss Gesamt Platz
Lois 36,6 P. 37,8 P. 74,4 P, 1.
Huwi 33,8 P. 33,2 P. 67,0 P. 2.
Werna 29,9 P. 34,7 P. 64,6 P. 3.
Ali 22,3 P. 41,6 P. 63,9 P. 4.
Springi 34,6 P. 25,7 P. 60,3 P. 5.
Hermann 33,7 P. 24,6 P. 58,3 P. 6.
Max 22,1 P. 34,5 P. 56,6 P. 7.
Scholle 27,7 P. 25,0 P. 52,7 P. 8.
Otto 35,3 P. 16,3 P. 51,6 P. 9.
Johnny 14,1 P. 36,4 P. 50,5 P. 10.
Sali 15,9 P. 30,0 P. 45,9 P. 11.
Hofa 30,1 P. 13,7 P. 43,8 P. 12.
Sigi 11,1 P. 30,5 P. 41,6 P. 13.

Wertung Gesamt

Sitzend stehend Pistole Gesamt Platz
Springi 494,7 62,5 60,3 617,5 1.
Hermann 484,3 65,3 58,3 607,9 2.
Max 481,1 60,4 56,6 598,1 3.
Ali 473,1 54,5 63,9 591,5 4,
Werna 479,7 39,1 64,6 583,4 5.
Johnny 480,1 52,3 50,5 582,9 6.
Sali 479,4 37,5 45,9 562,8 7.
Sigi 478,0 42,7 41,6 562,3 8.
Lois 451,0 28,7 74,4 554,1 9.
Scholle 440,0 50,2 52,7 542,9 10.
Huwi 447,6 25,0 67,0 539,6 11.
Hofa 450,4 32,1 43,8 526,3 12.

Otto 385,8 15,7 51,6 453,1
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